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'A' - 

(10) (i)

10×2=20 2 (ii)

 f(x) = cos x F : A B .1

B

(Domain) .2

A + B .3

A2 .4

AA' A+A' .5
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K A2 = 0 .6

n m (Collinear) .7

.8

.9

(Unit Vector) 
a  b a  + b .10

.11

.12

(Period) .13

sinh(2x) cosh(2x) .14

coshx = sec .15

'B' -

(5) (i)

5×4=20 4 (ii)

2 I (aI + bE)3 = a3I + 3a2bE .16

A–1 (Non-singular Matrix) .17

4A – 5B B – A .18
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'O' (Regular Hexagon) ABCDEF .19

.20

.21

.22

A .23

tanA + cotA = 2 cosec2A (i)

cotA – tanA = 2 cot2A (ii)

.24

.25

.26

.27

'C' -

(5) (i)

5×7=35 7 (ii)

.28

(iv) f 2 (iii) 2 + f (ii) 2f (i)

3 I A3 – 3A2 – A – 3I .29
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(Cramer's Rule) .30

, 

(Matrix Inversion Method) .31

, 

.32

.33

[ b  c  d ] + [ c a d ] + [ a b d] = [ a b c ] .34

(Coplanar)

C B A .35

sinA + sinB – sinC = 

a:b:c = 6:5:4 .36

r3 = 14 c = 15 b = 14 a = 13 .37

___________
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